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Osgz2es¥ 44,6403 *150%*20L x1H 1,340
04 JIZHHZ2XREES 6,419 53,350 A 46,931
OgZE S Ottl 600,000 23] x2H 2,400
Ogxt==¢ 44,640 «2H x 152 1,340
Osgz=e¥ 44,6403 *150%*2H x20 L 2,679
XGOS HE SASAX Q12 X 18,000 0 18,000
307 glz2tol & 18,000 0 18,000
11T MISXASEX 18,000 0 18,000
OXS0otsSHE SASAHA 21A4Hl K&
18,000, 000 18,000
CUAEE 2YNA(2ZE) 280,000 0 280,000
= 280,000
101 @144 Hl 78,450 0 78,450
= 78,450
03 RIAHAZ 2T E =+ 25,100 0 25,100
OOl=SEMUIAT2R% 2124d|
25,100,000& 1 25,100
= 25,100
04 JIZHHZ2XEES 53,350 53,350
OOl=SEMUIAT2R2 Q12|
26,675,000& 2 53,350
= 53,350
201 ¢4l 66,430 0 66,430
= 66,430
01 At 2t 2l 19,830 0 19,830
OSEAEE AR 19,830
= 19,830
02 2324gHl 6,600 0 6,600
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SA: FOIMEST D
M JIE=T MHIA SO

& OtsSEXAMHA 4 (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OXt& =Xl 50,000& »12& 600
= 600
OxeRFHl 400,000& x12& 4,800
= 4,800
03323 (S8l 8) 100, 000& =123 1,200
= 1,200
03 A2 S HI 40,000 0 40,000
OESAEE AIY AL 29 40,000
= 40,000
202 O4dl 10,920 0 10,920
= 10,920
01 = LH 4 1l 10,920 0 10,920
OCHAEE g2EX
20,000 «3E «103| x12& 7,200
= 7,200
OOSESMHANSRY JIEYE S ¥2x
& 10,0003 *3H « 103 x12& 3,600
= 3,600
OOSSBNUIARNSRRA M8 1] 423
& 10,0003 »321 43| 120
= 120
206 T 2 bl 1,200 0 1,200
= 1,200
01 =8l 1,200 0 1,200
OLEAERE T8 29 M4l 1,200
= 1,200
301 L2 A F 75,000 0 75,000
= 75,000
01 MEIBEE 253 60,000 0 60,000
OEEARE T2 29
50,0003 x100H x12& 60,000
= 60,000
09 HALAHIEA S 5,000 0 5,000
OEEAERE BRuUs 5 T8 292 5,000
= 5,000
11IIEEAS 10,000 0 10,000
OLEAERE T8 29 LAY
1,000,000 10& 10,000
= 10,000
307 glz2tol & 48,000 0 48,000
= 48,000
01 2=2L =4l 17,000 0 17,000
O0ts 1238 Z20dl 293
100,000& 17 = 103 17,000
= 17,000
10 M ZXNANEHI2IHE=X 31,000 0 31,000
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2N

FOIME X D

& IIESX MBlA 20
el OIS =RMLIA B4 SREED
CEHE .S (3H) - MBAY - B2 il HDS2
OEEAHRE T2 29 31,000
= 31,000
MRES(FoUMESI) 317,157 319,888 N2,731
WEHAN XK= 317,157 319,888 N2,731
2SI EEIH &2 317,157 319,888 N2,731
701 JIEIS HSHES 317,157 319,888 N2,731
01 JIEtSHNME= 317,157 319,888 N2,731
OzEFTII2EEIH &3 317,157
L AU (FUMEET D) 57,957 57,957 0
Al 57,957 57,957 0
DIMEIE X0 D23l 57,957 57,957 0
201 et A | 24,300 24,300 0
01 AFR2t2ldl 24,300 24,300 0
OSH 0l & 19,440
OZ2 & SHU A 4,860
202 0db] 29,457 29,457 0
01 2LHOHI 29,457 29,457 0
O =L di 29,457
203 ¥ R =&t 4,200 4,200 0
04 ENSIHRF=Y| 4,200 4,200 0
OFUMESI L 2FA2HH] 4,200
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